i) matrix | Bltscalled____

a) Scalar b) Diagonal
c) Identify . d) Rectangular
i) Vel -
A) -8 B4 C) 4 D) 8
i) 0.00729 in scientific notationcan be writtenas
a) 720x10° b) 729x10°
c) 7.29x10°° d) 0729x10"

v) (7x+4y)-(3x-0y)=

A) (4x+10y) B) (4x-2y) C) (dx+2y
V) F‘actomauonnfx“ 5:~<+@:s-.ﬂm’\Yp\h\j

a) (x- Y - 2)1x-3

c) (x+2 d (x+2)(x-3)
vi) a +ab + b2

a+b. a-b

c) (a-b)(a+b) d) a’ +ab + b’
vi) v2x+1 -5=4isa_____equation.

a) Linear b) Cubic

¢) Radical d) Quadratic

vil) The two coordinate axes intersect at an angle of _
A) 3° . 'B) 4" C) 60° D)
ix) Al are the sufficient condition for the congruency of two

triangles EXCEPT | K\N

a) ASA=ASA g(

c) SAA=SA 2 @ A= '

) If sum o) é( d <C of a parallelogram
4 AB}%@% <B= |

gl B) 50°  C) 80° D) 65"
e angle bisectors of a triangle meet at a point which
xn)l is equidistant from  , of the triangle.

a) Vertices b) Sides.
¢) Mid-point of sides d) - Allof these

xii) A segment bisector is a line that divides a segment into
: congruent parts.

A) 4 B) 3 C) 2 R 2

In'AABC. m~A=50" and m./B=30" ,which of the following
is correct?

a) mBC>mAB b) MAB >mCA
¢) MBC <m(CA d) mAD <mCA m
ed

. Which of the following are the SI
Xiv)
triangle? @
X '. d D) 567

3 b) Perpendicular bisector
¢) Altitude ~d) Angle bisector

xiii)




